324 2oTice BEHIERIZQR I— FHS HP AT Y EX

nl H-52

FRA

1
Ex | &/
. " ; ' ‘ -
5 AR i - | e
‘ 1 i LT
. M8X1.25 M8X1.25 M6X1.0
7’ ¢ 20 $20 ¢15
j/J H-52-1 H-52-2 H-52-3
| O, O,
BF ST SN -
arm arm
@ Check! M5X0.8 M6X 1.0
gy
N RIb Ff EEERE. SERERE. LR SCALR 915
# B EREREIE (SUM32) H-52-4 H-52-5
YR i m BE BAHEERR O—F+2N\=
BEARAIEE 2 |H-52-1 FRR M8 X 20 42g| 100 & 1Z#E1EEE 1040522201
H-52-2 HHRZ M8 X 15 31g| 100 1@ {E4HFE 1040522202
TmEgE  |[H-52-3 FRA M6 X 15 18g| 200 f&| 1F#E7EE 1040522203
jpz=po=  |H-52-4 FARZ M5 X 10 12g| 250 & 1REETERS 1040522204
SEIAERE  [H-52-5 FLRZ M6 X 10 12g| 300 18 1Z#EEE 1040522205
SP22ES
HINY BB H - 5 - U
AT VLARKRA
Bl ES
5|F
iy ‘
I ‘ ) - ;I 1 |;
Il < ! |
! AR
‘: i :‘ I i !
/_"r'f)l/h M8X1.25 M8X1.25
7AF vk 620 $20
H-52-SUS-1 H-52-SUS-2
e @
2S5y - KJ
o
| © L
it iy | e
H—R ‘ ‘
~g— @ Check! | M6x1.0 M5X0.8
G EERERE. HERE. SIS 815 015
XmA 7 B RTFVL XM (SUS-304) H-52-5US-3 H-52-SUS-4
7245 = S S
s 2 2% BE B R GEERR  O—FT -
H-52-SUS-1 | ATV L AAKRRA M8 X 20 43g| 100 & 1Z#EE 1040522301
77— 2iex |H-52-8US-2 |XTVLANKZ M8 X 15 31g| 150 {8 1RHETEE 1040522302
A7 )4 |H-52-8US-3 | AT VL AHKRZ M6 X 15 18g| 200 1@ 1F#ETEE 1040522303
H-52-SUS-4 A7V LAHAKRZ M5 X 10 13g| 250 1El| 1247 1040522304




